Im=1__cm Im?=__ cm? 1m3=_ cm’

IL=1__ cmd 1L = _ cc, 1L = mL

Im? = L= cm® = _ mL

lem* = mlL = ml = cc

3mX0.5mX1.8m = cmX cm X cm

20cmX 13cmX4. 5em = m X m X m

2mX 25cmX3.2m =  cmX cm X cm = m X m
123cmX 4. Tm X 3. bem = m X m X m = cmX __ cm
0. 2mX 25cm X 16¢cm = X X = )
50cm X 3mX 12m = X X = ( = L
0. 5cmX 0. 03mX 12¢cm = X X = ) =
25mmX 4cmX 1. 2m = X X = ) =

7TmX 350mm X 40cm = X X = ) =

8L = cm®=__ cmX16ecmX20cm

500L = m® = mXO0.5cmX2m

600mL. = cm® = 20cmX () X3cm

cms

180cc 3cm X 4em X ( )

1400ml = cm?® = () X5emX40cm
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